a7  HES A& L] hesl (mm) | h#| Xmm) | HE | B ndg/R amik| HE
015 F = KL—7 | 156%Ls 1,400, 30 1,460 11 % 5.6 5.6
= L—2X 1.50&L48 1,400/ 30 1,460 1] #% 56 56
ML) | E#AvIa | TL— 2,800/ 3.0 2,600 11 % 8.4 8.4
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1| ] 40 40
4028 % = KL—7 | 1.5f%Ls 1,400, 30 1,460 11 % 5.6 5.6
= L—X 1.56&L48 1,400/ 30 1,460 1] #% 5.6 5.6
ML) | E#AvIa | TL— 2,800/ 3.0 2,600 11 % 8.4 8.4
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1| ] 40 40
4035 E = KL—7 | 1.5f%Ls 1,400, 30 1,460 11 % 5.6 5.6
= L—X 1.56&L48 1,400/ 30 1,460 1] #% 5.6 5.6
ML) | E#AvIa | TL— 2,800/ 3.0 2,600 11 % 8.4 8.4
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
4045 = KL—7 | 1.5f&%Ls 1,400, 30 1,460 11 & 5.6 5.6
= L—& 1.515E8 1,400, 3.0 1,460 1 #% 5.6 5.6
Bty | E#AvIa | TL—r 2,800/ 3.0 2,600 11 & 8.4 8.4
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
4055 = KL—7 | 1.5f&%Ls 2,100/ 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2,100/ 4.0 1,800 1 & 8.8 8.8
Bty | E#AvIa | TL—r 2,500/ 3.0 2,450 11 & 8.0 8.0
e HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
4065 = KL—7 | 1.5f&%Ls 2,000 3.0 1,800 1 & 6.6 6.6
= L—& 1.5(8L% 2,000/ 30 1,800 1| B 6.6 6.6
Bty | E#AvIa | TL—r 2,500/ 3.0 2,450 1] & 8.0 8.0
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
4075F = KL—7 | 1.5f&t5 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000/ 6.0 2,450 2| ¥ 15.9 3138
Rty | £#Avia | TL— 5500/ 6.0 2,450 2| % 159/ 318
4085 = = KL—7 | 1.5f&t% 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000/ 6.0 2,450 2| ¥ 15.9 3138
Ry | E#AvTa | TL—r 5500/ 6.0 2,450 2| &% 159/ 318
4095 F = KL—7 | 1.5&t% 5200/ 8.0 1,800 1 B 17.6 17.6
= L—2R 1.5(5L4 5200/ 8.0 1,800 1| B 176 17.6
RfEt) | E&BAYI 2 | TL—> 6,000 6.0 2,450 2| ¥ 15.9 318
Rty | E#AvTa | TL—r 5500/ 6.0 2,450 2| &% 159/ 318
4105 E = KL—7 | 1.5&t% 5200/ 8.0 1,800 1 & 17.6 17.6
= L—2R 1.5(5L4 5200/ 8.0 1,800 1| B 176 17.6
RfEt) | E&fAYI 2 | TL—> 6,000 6.0 2,450 2| ¥ 15.9 318
Ry | E#AvTa | TL—r 5500/ 6.0 2,450 2| &% 159/ 318
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a7  HES A& L] hesl (mm) | h#| Xmm) | HE | B ndg/R amik| HE
MBE = RL—7 | 15684 5200/ 8.0 1,800 1| B 176 17.6
= L—& 1.5(8L% 5200/ 80 1,800 1 & 17.6 17.6
Rty | E#AvIa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Mt | EEAvIa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
4128 =% = RL—7 | 15684 5200/ 8.0 1,800 1| B 176 17.6
= L—& 1.5(8L% 5200/ 80 1,800 1 & 17.6 17.6
Rty | E#AvIa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Mt | EEAvIa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
4135=E = RL—7 | 15684 5200/ 8.0 1,800 1| B 176 17.6
= L—& 1.5(8L% 5200/ 80 1,800 1 & 17.6 17.6
Rty | E#AvIa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Bite | EEAvTa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
MABE = KL—7 | 1.5f&%Ls 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2,200/ 4.0 1,800 1 & 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 11 & 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
4158 = KL—7 | 1.5f&%Ls 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2,200/ 4.0 1,800 1 & 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 11 & 8.0 8.0
aF HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
46BE = KL—7 | 1.5f&%Ls 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 1] & 8.0 8.0
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
HNIEE = KL—7 | 1.5f&t5 2,200/ 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 1] & 8.0 8.0
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
4185 E = KL—7 | 1.5f&t% 2,200/ 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700/ 20 1,800 1| ¥, 4.0 4.0
MHIBE = KL—7 | 156848 2,200, 40 1,800 1| B 8.8 8.8
= L—2R 1.5(5L4 2,200, 40 1,800 1| B 8.8 8.8
RfEt) | E&BAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700/ 20 1,800 1| ¥, 4.0 4.0
4205 F = KL—7 | 1.5&t% 2,200/ 4.0 1,800 1 & 8.8 8.8
= L—2R 1.5(5L4 2,200, 40 1,800 1| B 8.8 8.8
RfEt) | E&fAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700/ 20 1,800 1| ¥, 4.0 4.0
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a7  HES A& L] hesl fEmm) | k| Xmm) | FE B mB/R| ARk FE
215=F = RL—7 | 15684 2,400, 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,400/ 4.0 1,800 1 & 8.8 8.8
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1| #] 40 40
4225F = RL—7 | 15684 2,200/ 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,200 4.0 1,800 1 & 8.8 8.8
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—y 1,700/ 20 1,800 1| #] 40 40
4235F = RL—7 | 15684 2,300, 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,300/ 4.0 1,800 1 & 8.8 8.8
HAO FL—7 | FL—> 1,400, 20 1,800 11 % 4.0 40
4245 F = KL—7 | 1.5&Ly 1,800/ 3.0 1,460 1] & 5.6 5.6
= L—& 1.565Ey 1,800/ 3.0 1,460 1| #& 5.6 5.6
. 4255 E = KL—7 | 1.5&Ly 1,800/ 3.0 1,460 1] & 5.6 5.6
= L—& 1.565E8 1,800/ 3.0 1,460 1| #& 5.6 5.6
4265 E = KL—7 | 1.5&Ly 1,800/ 3.0 1,460 1] & 5.6 5.6
= L—& 1.565Ey 1,800/ 3.0 1,460 1| #& 5.6 5.6
2715 F = KL—7 | 1.5&Ly 1,800/ 3.0 1,460 1] & 5.6 5.6
= L—& 1.565E8 1,800/ 3.0 1,460 1| #& 5.6 5.6
4285 E = KL—7 | 1.5&Ly 1,400/ 30 1,460 1] & 5.6 5.6
= L—& 1.565E8 1,400/ 30 1,460 1| #& 5.6 5.6
TAI—L = KL—7 | 1.5&t% 5300/ 8.0 2,000 2| & 19.2 38.4
= L—& 1.565ES 5300/ 8.0 2,000 2| B 19.2 384
= KL—7 | 1.5&t% 5000/ 8.0 1,800 1| B 17.6 17.6
= L—& 1.565E8 5,000 8.0 1,800 1 & 17.6 17.6
NEEE ML) | EEAYIa | TL—> 4,000 4.0 2,450 2| ¥ 10.6 212
fi & = HAR FL—7 | FL—> 2,000 20 2,200 1] & 4.8 48
Z BIER fEl{L L] kL—7 | FL—> 2,300/ 3.0 2,200 1] #% 7.2 7.2
018E = KL—7 | 1.5f&t5 1,700, 3.0 1,800 1 & 6.6 6.6
= L—& 1.5(8L% 1,700/ 3.0 1,800 1| B 6.6 6.6
RfEt) | EEBAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
o HAO KL—7 | FL—> 1,700| 20 1,800 1| ¥, 4.0 4.0
3028 % = KL—7 | 1.5&t% 1,700, 3.0 1,800 1 B 6.6 6.6
= L—2R 1.5(5L4 1,700, 30 1,800 1| B 6.6 6.6
L) | E&fAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700| 20 1,800 1| ¥, 4.0 4.0
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a7  HES A& L] hesl fEmm) | k| Xmm) | FE B mB/R| ARk FE
3035 E = RL—7 | 15684 1,900/ 3.0 1,800 1| B 6.6 6.6
= L—& 1.5(8L% 1,900, 3.0 1,800 1 & 6.6 6.6
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1] #% 40 40
3045 F = RL—7 | 15684 1,900/ 3.0 1,800 1| B 6.6 6.6
= L—& 1.5(8L% 1,900, 3.0 1,800 1 & 6.6 6.6
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—y 1,700/ 20 1,800 1] #% 40 40
3055 F = RL—7 | 15684 2,200/ 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,200 4.0 1,800 1 & 8.8 8.8
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
3065 E = KL—7 | 1.5f&%Ls 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2,200/ 4.0 1,800 1 & 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 11 & 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
0TFE = KL—7 | 1.5f&%Ls 5200/ 8.0 1,800 1 & 17.6 17.6
- = L—& 1.5(8L% 5200/ 80 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000/ 6.0 2,450 2l ¥ 15.9 3138
Mt | EEAvIa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
3085 E = KL—7 | 1.5f&%Ls 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000/ 6.0 2,450 2| ¥ 15.9 3138
Rty | L3y a | TL— 5500/ 6.0 2,450 2| #%& 159/ 318
3098 E = KL—7 | 1.5f&%t% 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000 9.0 2,450 2l 15.9 3138
Rty | L3y a | TL— 5500/ 9.0 2,450 2| % 159/ 318
3108E = KL—7 | 1.5f&t5 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1| B 17.6 17.6
RfEt) | EEBAYI 2 | TL—> 6,000 9.0 2,450 2| ¥ 15.9 318
Rty | E#AvTa | TL—r 5500/ 9.0 2,450 2| &% 159/ 318
INEE = KL—7 | 1.5&t% 5200/ 8.0 1,800 1 B 17.6 17.6
= L—2R 1.5(5L4 5200/ 8.0 1,800 1| B 176 17.6
L) | E&fAYI 2 | TL—> 6,000 9.0 2,450 2| ¥ 15.9 318
Rty | E#AvIa | TL—r 5500/ 9.0 2,450 2| &% 159/ 318
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a7  HES A& L] hesl fEmm) | k| Xmm) | FE B mB/R| ARk FE
3128 E = RL—7 | 15684 5200/ 8.0 1,800 1| B 17.6 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1 & 17.6 17.6
Rty | E#AvIa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Mt | EEAvIa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
JIIBE = RL—7 | 15684 5200/ 8.0 1,800 1| B 176 17.6
= L—& 1.5(8L% 5200/ 80 1,800 1 & 17.6 17.6
Rty | E#AvYa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Mt | EEAvIa | TL—r 5500 6.0 2,450 2| 15.9 31.8
JI45E = RL—7 | 15684 5200/ 8.0 1,800 1| B 176 17.6
= L—& 1.5(8L% 5200/ 8.0 1,800 1 & 17.6 17.6
Rty | E#AvIa | TL— 6,000, 6.0 2,450 2| & 159/ 318
Bite | EEAvTa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
3BT E = KL—7 | 1.5f&%Ls 5200/ 8.0 1,800 1 & 17.6 17.6
= L—& 1.5(8L% 5200/ 80 1,800 1| B 17.6 17.6
Bty | E#AvIa | TL—r 6,000/ 6.0 2,450 2l ¥ 15.9 3138
Mte | EEAvTa | TL—r 5500 6.0 2,450 2| ¥ 15.9 31.8
365 E = KL—7 | 1.5f&%Ls 2,000 3.0 1,800 1 & 6.6 6.6
- = L—& 1.5(8L% 2,000 3.0 1,800 1 & 6.6 6.6
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 11 & 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
INTBE = KL—7 | 1.5f&%Ls 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 1] & 8.0 8.0
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
3188 E = KL—7 | 1.5f&%t% 2,200 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 1] & 8.0 8.0
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
3198E = KL—7 | 1.5f&t5 2,200/ 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
RfEt) | EEBAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700/ 2.0 1,800 1| ¥, 4.0 4.0
3208 F = KL—7 | 1.5&t% 2,200 4.0 1,800 1 B 8.8 8.8
= L—2R 1.5(5L4 2,200, 40 1,800 1| B 8.8 8.8
L) | E&fAYI 2 | TL—> 2,800/ 3.0 2,450 1] & 8.0 8.0
HAO KL—7 | FL—> 1,700/ 20 1,800 1| ¥, 4.0 4.0

4435 5B /I & 538.8
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a7  HES A& L] hesl (mm) | h#| Xmm) | HE | B ndg/R amik| HE
RVAR=3- = RL—7 | 15684 2,200, 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,200/ 4.0 1,800 1 & 8.8 8.8
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1] #% 40 40
325 F = RL—7 | 15684 2,200/ 40 1,800 1| B 8.8 8.8
= L—& 1.5(8L% 2,200 4.0 1,800 1 & 8.8 8.8
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAO kFL—7 | FL—yr 1,700/ 20 1,800 1] #% 40 40
3235 EF = RL—7 | 15684 1,700/ 3.0 1,800 1| B 6.6 6.6
= L—& 1.5(8L% 1,700, 3.0 1,800 1 & 6.6 6.6
ML) | E#AvIa | TL— 2,800/ 3.0 2,450 11 % 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
324BE = KL—7 | 1.5f&%Ls 1,700, 3.0 1,800 1 & 6.6 6.6
= L—& 1.5(8L% 1,700, 3.0 1,800 1 & 6.6 6.6
Bty | E#AvIa | TL—r 2,800/ 3.0 2,450 11 & 8.0 8.0
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
3255 E = KL—7 | 1.5f&%Ls 1,900, 3.0 1,800 1 & 6.6 6.6
= L—& 1.5(8L% 1,900, 3.0 1,800 1 & 6.6 6.6
3F Bty | E#AvIa | TL—r 3,300/ 4.0 2,450 11 & 10.6 10.6
HAR kKL—7 | FL—r 1,700 20 1,800 1] & 40 40
3265 FE = KL—7 | 1.5f&%Ls 1,700, 3.0 1,800 1 & 6.6 6.6
= L—& 1.5(8L% 1,700/ 3.0 1,800 1| B 6.6 6.6
Bty | E#AvIa | TL—r 3,300/ 4.0 2,450 1] & 10.6 10.6
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
218F = KL—7 | 1.5f&t5 2,200/ 4.0 1,800 1 & 8.8 8.8
= L—& 1.5(8L% 2200, 40 1,800 1| B 8.8 8.8
Bty | E#AvIa | TL—r 3,300/ 4.0 2,450 1] & 10.6 10.6
HAQ kKL—7 | FL—r 1,700/ 20 1,800 1] & 40 40
3288 F = KL—7 | 1.5f&t% 1,800, 3.0 1,460 1] & 5.6 5.6
= L—X 1.56%E4" 1,800/ 30 1,460 1 %, 5.6 5.6
3298 F = KL—7 | 1.5f&t% 2,000 3.0 1,800 1 & 6.6 6.6
= L—2R 1.5(5L4 2,000/ 30 1,800 1| B 6.6 6.6
HAO kFL—7 | FL—> 1,500 20 1,800 1] #& 40 40
TAI—LIA = FL—7 | 1568ty 5300/ 8.0 2,000 2| B 19.2| 384
= L—& 15688 5300/ 8.0 2,000 2| B 19.2 384
EEEBOX = FL—7 | 1568ty 1,700, 30 1,800 1| B 6.6 6.6
= L—& 15688 1,700, 3.0 1,800 1 & 6.6 6.6

39K 6EH /M &t 315.8
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7| EHMER & ] s mEmm) | k| Xmm) | HE | B B/ AR HE
TAIN—L2 = RL—7 | 15f&L48 5300/ 8.0 2,000 2| & 19.2| 384
= L—R | 158 5300/ 80 2,000 2| B 19.2| 384
BEEBOX = RL—7 | 1564 2,100, 40 1,800 1| & 8.8 8.8
= L—R | 15888 2,100/ 40 1,800 1 B 8.8 8.8
HUTFLYRIN—L 51 RL—7 | 1564 2,200, 40 1,800 1| B 8.8 8.8
o = L—R | 1588 2,200/ 40 1,800 1 B 8.8 8.8
EAE 51 RL—7 | 15648 2200, 40 1,800 1| & 8.8 8.8
= L—R | 1588 2,200/ 40 1,800 1 B 8.8 8.8
ZBMMERT | LT FL—7 | FL—v 2,000, 20 2,200 1 #% 48 48
ZBMER2 | B FL—7 | FL—> 1,300/ 20 2,200 1 #& 48 48
R HAQ FL—7F | FL—> 1,600 20 2,000 2| % 4.4 8.8
ME=E i) | EEfAvIa | TL— 2,500, 3.0 2,200 1 #& 7.2 7.2
PEE1 HAO FL—7 | FL—> 1,300| 20 1,800 1 %, 40 40
PE=E2 HAO FL—7 | FL—> 1,300/ 20 1,800 1 #& 40 40
PRES HAQ FL—7 | FL—> 1,300| 20 1,800 1 %, 40 40
PEE4 HAO FL—7 | FL—> 1,300/ 20 1,800 1 #& 40 40
WE=E Mt | £#AvTa | TL— 5000/ 5.0 2,450 1 #& 13.3 13.3
2F i) | EEfAvYa | TL— 4500, 50 2,450 1 #& 13.3 13.3
BREBE Rty | E#Avia | TL— 3,700| 4.0 2,450 1 %, 106/  10.6
X#RCT=E Sl FL—7 | FL—> 2,700, 3.0 2,150 1 #& 7.1 7.1
X = L) FL—7 | FL—> 2,500| 3.0 2,150 1 %, 7.1 7.1
% BHIERT fEEED FL—7 | FL—> 1,100| 20 2,450 1 #& 5.3 5.3
TFEKRE fRifL L) FL—7F | TL—> 2,500| 3.0 2,200 1 #% 7.2 7.2

A—TURITE 30737 m
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